Montageanleitung - Abdeckset
Mounting instruction - Cover set
Notice de montage - Jeu de caches

hawa@®

Anreihschrank H 395
Modular cabinet H 395
Cellule H 395

Detail "A"
Detail "A"
Détail "A"

Y

Ranet

A

oS e T e e L LR

FReR RNy

i

e

SmaroReran
R T s T e
a:t.:;m

i

TR

RNEHEERuEsHateRefnRa: ReRanans

Abdeckset
Cover set
Jeu de caches

Montage Kipp-Kéfigmuttern
Mounting Tipping-cage nuts
Montage Ecrous-cages basculants

Montagereihenfolge
Mounting order
Ordre de montage

OXC
@ @
® 6%
@ (19
(1%)
® ®

® @
@ @

Kipp-Kafigmutter M6  / Tipping-cage nut
Ecrous-cages basculants

U-Scheibe M6 DIN 9021  / U-washer M6 DIN 9021
Rondelle plate M6 DIN 9021

Abstandsbolzen M6x12  / Spacer bolts M6x12

Axe d'écartement M6x12

Abdeckblende links  / Left cover panel

Cache gauche

Abdeckblende rechts  / Right cover panel

Cache droite

Sperrzahnschraube M6x10

Self-locking bolt with serrated bearing surface M6x10
Axe de sécurité par dents de blocage M6x10
Abdeckblende oben u. unten
Cache supérieure et inférieure
Blechschraube M4x16  / Sheet metal screw M4x16
Vis & tole M4x16

/ Top and bottom cover panel

Abdeckset fir Schrankbreite
Cover set for cabinet width
Pour largeur ddmoire

Best. -NR.
Order no.
Référence

600 mm /23,62"

0394-7120-60-02

850 mm /33,46"

0394-7120-85-02

1100 mm /43,31"

0394-7120-11-02

- Bei Einbau in H390 ist 1 Satz senkrechte
Montageschinen 0391-9020-00-03 erforderlich

- 1 set vertical mounting rail 0391-9020-00-03
is required for the mounting in H390 cabinets

-1 jeu de rails de montage verticaux type 0391-9020-00-03
est nécessaire pour le montage dans des armoires H390




hawa@®

hédwa GmbH
IndustriestralRe 12
D 88489 Wain

Tel. +49 7353 98460
info@haewa.de
www.haewa.de

D 08451 Cri itsck D 47167 Dui ] D 63477 Maintal A 4020 Linz
Gewerbegebiet Neum(ihl Doérnigheim

Sachsenweg 3 Theodor-Heuss-Str. 128 Carl-Zeiss-Strale 7 Schmachtl GmbH

Tel. +49 3762 95271/2 Tel. +49 203 346530 Tel. +49 6181 493031 Pummererstralie 36

vertrieb.c@haewa.de vertrieb.d@haewa.de vertrieb.rm@haewa.de Tel. +43 732 76460

office.linz@schmachtl.at

CH 8967 Widen DK 6400 Sonderborg E 48450 Etxebarri F 67600 Sélestat
hawa (schweiz) ag Eegholm A/S Hawea Ibérica, s.I. héawa France Sarl
Gyrenstrasse 5a Grundtvigs Allé 165 - 169 Poligono Leguizamén 22, Rue Roswag
Tel. +41 43 3662222 Tel. +45 73 121212 Calle Guipuzcoa, Pab.9 Tel. +33 672 71 3309
info@haewa.ch eegholm@eegholm.dk Tel. +34 944 269521 info@haewa.fr
hawea@ctv.es

188489 Wain NL 7548 CV Enschede SE 88489 Wain SE 19561 Arlandastad

(only for tools)
héawa Italia hawa Nederland B.V. hawa Schweden Nelco Contact AB
Industriestrale 12 De Plooy 6 Industriestralle 12 Dalens Gata 7
Tel. +49 7353 9846115 Tel. +31 53 4321835 Tel. +49 7353 98460 Tel. + 46 875 47040
info@haewa.it info@haewa.nl info@haewa.se info@nelco.se "

ZUBEHOR

USA Duluth, GA 30097 KLIMATISIERUNG

haewa Corporation
3768 Peachtree Crest Drive
Tel. +1 770 9213272

info@haewa.com SONDERBAUTEN

LEITUNGSKANALE

Anderungen vorbehalten / Specifications subject to modifications / Sous réserve de modifications Q WERKZEUGE
© hawa, 11/2022 0394-7000-00-77



